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'5:\4 1. (25%) Modify the following code to produce the output shown below. Use proper indentation
?i techniques. You may not make any changes other than inserting braces. Note: it is possible that
Yf: no modification is necessary; or there is no way to create the output as requested. In either
I” case, you still need to write down you answer with reasons.

Ad
(Note: "NYIFECHEARECLEE » ERENIATEIR » 58 (a)~(e)EFT AT )

if (y == 8)

if (x == 5)

printf(“@EEEE\n") ;

else

printf (“####4\n") ;

printf(“$$$$$\n”);

printf(“&&&&&\n");

(a) Assume x
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the following output is produced.

(b) Assume x

eeee@
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the following output is produced.

(c) Assume x

eeEe@
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5 and y
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the following output is produced.

(d) Assume x
St
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the following output is produced.

(e) Assume x = 5 and y = 7, output nothing.

2. (20%) For computing 1+2+3+...+n, give a function
(a) sum(x) using iteration method (F TE# B for 3 FE])
(b) rsum(x) using recursion method (&%)
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3. (10%) What does the function mystery do? If n = 2468 is passed to mystery, what is the return
value?
int mystery(int n){
int r = @, divisor = 1000, multiplier = 1;
while ( n > 10 ) {
if ( n >= divisor ) {
r+=n / divisor * multiplier;
n %= divisor;
divisor /= 10;
multiplier *= 10;
} else
divisor /= 10;
}
r+=n * multiplier;
return r;
}
4. (15%) Input two integers N1 and N2, write three functions below to get the desired results.
(a) compare(N1,N2), return 0 if N1=N2, return 1 if N1>N2, return -1 if N1<N2
(b) checkEven(N), return 1 if N is even, return Q if it is odd
(c) prime(N), return 1if N is a prime (B %%), return 0 if it is nonprime
Note: You need to call the three functions to defined above to obtain the results below.

Enter two integers: 10 31

10 < 30
10 is even; nonprime // 10 288 JFEE
31 is odd; prime // 31 258 B

Enter two integers: 53 26
53 > 30

53 is odd; prime

35 is odd; nonprime

Enter two integers: 25 25
25 = 25
25 is odd; nonprime

1
=
1
=

-1 // AWA -1 BEF

Enter two integers: -1
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5. (30%) The given code below is to throw the dice N times in random, and show the statistics.
The dice number is from 1 to 6. Based on the code given, without modifying the main()
functions, give the five functions in order to produce the desired result,

(a) randgen(int dice[], int N): throw the dice N times in random

(b) show(int dice[], int N): show the N dice numbers, ten numbers in a row

(c) compute(int dice[], int count[]): to get the number in the dice array and count the number
and record it in the count array.

(d) statistics(int dice[]): show the dice count as shown below.

(e) check(int count[], int N): show if the count total is equalto N

Note: 2A_E 5@ functions € £ BA#£ » 2 X A& T A BIBIE S » 548 funciton Bl 6 4 o
#define MAX 200

int main(){

int dice[MAX]; /! BFFRBERTFZE#T

int count[6]; /! T 1~6 HIF B

int N;

printf(“Enter N: *);

scanf(“%d”,&N) ;

randgen(dice, N); // $&RET o BLEEESE N (N7 1~6)
show(dice,N); /] BRNERFE 5525 10 {Hks

compute(dice,count) // &l dice[ ]85 1~6 HEI B » 408%1F count[ ]
statistics(dice); // BURTREF 1~6 ZHIL/ %K

check(count, N); /7 EtE count[ 15! 1~6 BiF  IN4EE M N &
}

/* screen output */

Enter N: 50

// MO randgen(dice,N) & show(dice, N) BHE[H:

Statistics Summary // DUREROY statistics(dice) BFEIY

[1] H*xxsskksx (g)

[2] #wsksmasssr (11)
[3] *¥kkkkkx (g)

[4] *¥¥kkkkxs ()
[5] **xxxxxx (g)

[6] ****%* (6)

Total = 8+11+8+9+8+6 = 50 // N0 check(count)HFEIH
Verify: OK. // ERWRET 1~6 JISEZH N{E > FIFLET OK. ZSHIEI NOT OK.




